1,000R(A)

triangle lightnesst*: 100,0

contrast C=2:1

contrast C=2:1

BES40-1A

BES40-2A

1,000R(A)

0,282

triangle lightnesst*: 100,0

G+

contrast C=2:1

triangle lightnesst*: 100,0

contrast C=2:1

BES40-3A

BES40-4A

1,00R(A)

triangle lightnesst*: 100,0

contrast C=2:1

triangle lightnesst*: 100,0

contrast C=2:1

BES40-5A

BES40-6A

CIELAB lightness L*: 100,0

contrast C=2:1

1,000R(A)

0,282

A2=
472

triangle lightnesst*: 100,0

A=
572

contrast C=2:1

BES40-7A

BES40-8A

BES40-7N




